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*  Answerall the questions in Parl A on Lhis paper ilsell. * '
* EachyuestioninPart Aearries 2 inarks. (2 x 20=4{)

(01 Findthedigiwl rootef53146

{025 A= T E [ ER
Write down the set A in lerns of o common property of its elements by which Lhe elemenis can be
elearly ddentified.

(03}  Selectand write down twuo numbers which are divisible by & withouta reminder.
348,496,288 1924

{0d] Wrile 3w 32 3= ¥ = X Inindex lenmn.

.
fA5)  Express 2 5; asadecimal number,

(06) Namean acuw angle and anobluse angle seen in the (igure.

I
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(07y  Dinithi'sdate of birthis 2005-05-22. Whatisherage on2017-11-20
{08)  Simplily. 17+ 10x4
(09) _ Rewrite the numbers inorder using the sign > % o R
fi0y  Inamapdmwn | 500, the distance represented the road AB is 10cm. Find the actual distance of the
road AB in metres,
{11  Simplify. {-7.57)+(+11.34)
(1) Show thatihe pyramid given satislies the Euler's relation.
(13}  Express3500mlinlitres and mililitres,
{14}y  Fillinthe blanks inthe flow diagram given below,
L S = LS x-5
S 3] g« 75
(15)  Thebox'A’conmins ilems ofmass 30kg 350 while the box 'B' conlains items ol mass 40kg 750¢. Find

the lolal mass ol the items i both boxes.
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(16) A Measuré the angle ABC and wrie its magnitude.

(17} Aropeoflength 20m 16cm s cutinto 3 to get 3 equal pisces. What s the length of one piece.

(I18)  The volume of a cuboid is 120cm’. If the lengih is !0crm, find a set of suirable values for breadth and
height.

number indicated by the arrow head is observed. Wrile the set ofall oulcomes of this
experiment.

ya
L/

(20) Whar kind of (essellation is seen in the figure.

KX XXX
XXX XY

‘\ A circular dise is made to rotate eround its centre. When the disc staps rotating the
Lr ]
»

3

(A
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= e PartTT-
1 ] :

¢ Answer 1° question and 4 other queslions,

queslion carrics 16 marks and other questions earry 11 cach.

Remind the aclivity in the lesson 'Parallel stimight lines" thal you have done under (he guidence of

1)
your maths teacher. - ,
(i} Nam: l\:-'ro inslances lhﬂt }fuu can see p1ra||e| slrmghl lines i in the en\flrunmem | [% llnarks]
(i) Name iwo instruments that you used to canstruct - straight parallel Imes {2 marks)
(iil) Using the instruments mentioned in fii), construet a pair of paraliel siraight lincs and indicate
thal they are parallel. {3 marks)
(iv) Consiruct a line indicaling (he perpendicular height between the pair of parallet lines and name
[T T £ L el Rt i L T mom ~ {3 marks)
{¥) Construct another perpendicular height 'DC' similar o AB and obtain the reclangle ABCD,
3 marks)
fvi) Join AC in the rectangle ABCD and construct two straight lines thraugh B and D, parallel to AC.,
f3 marks)
{02) (i} Plolthe poinis given below as an ordered pairs, on a cariesian plane. (4 marks)
Adl, Dy , B2, 4, C6,4) . D7, 1)
(i) What is the suitable name that can be given to ihe closed plane figore obtained by joining the
points A, B, C and D respectively. {2 marks)
{iii) Construct the symmetrical axis of the ligure, {1 mark)
{iv} Wrile the coordinates of the point of inlersection of x - axis and the symmetrical axis_ (2 marks)
{v} [fthe point'B' is changed to oblain a parallelogram then whal should be the
coordinates of the new position ol the point 'B'. {2 marks)
{03) ABCDEF isalatground, AT B
(i) Whartisthelengthol'the boundary AR, (I mark) Y
{ii) Findihe perimeler olthe land indicated by ABCDEFE. = = Cle
(3 marks)
(iii) Find lhe area of the land. {4 marcks) L1 T E
{iv} Show that lhe volume of soilneeded Lo add evenly
on the land ABCDEF to make the Toor highup 1o %m irom the ground level, is 8om’. (3 marks)
(04) (i} Construct the equilaleral riangle ABC of side length 5em. {3 marks)
(i) Constructanather equilateral riangle named ACD an the side AC. 2 marks)
(iif) What is the mosl suilable name lor the figure obtained ABCD. (| marks)

(iv) Join BD, Namethe point of intersection of AC and BD as O, Using the infermation in the Ngure
nams two obluse angled triangles and (wo isosceles triangles. {2 marks)
{v) Conslructacircle taking OB as theradius and O as (he centre.

What is the length of the radins ol Lhe circle drawan, {J marks)
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(05) (a) (i} Write 24 and 36 as a product of prime faclors and write the answer in index form. Using the
answerobtained in (i) orusing any olher method answer to the question below. {3 marks)
(ii) There are 24 pens and 36 pencils in a box. It is needed to pack them into parcels such that there
must be an equal aumber of pens and an equal number of pencils in each parcel. There is no any
pen or any pencil remaining, after packiag them in parcels, Find the maximum number of
percels that can be prepared under the condition mentioned above.

(2 marks)
(iii) Two bells ring at inlervals of 24 minutes and 36 minutes respectively. 1fthey both rang together
al 8.00 am, al whet lime will they ring together again. (3 marks)
{t) (i) [f the perimeter of the triangle denotes by 'P', construct 8
formule for'P. {1 mark)
{ii} FindP, lakingx=6 andy=7 {2 marks)

,

(06) The following informarion is about the number of students wha participated for the maths - olympaid

competilive exam.

Sinhala Tamil English
Medium Medium Medium
Boys 50 25 15
Girls 30 ] 15
(i} Whatis the rumber of boys participated for the exam. (2 marks)
{(ii) Find Ihe numberof girls participated lor the exam asa percenlage. {2 mprks)
(i1i} Represent the informalion by a suitable multiplecolumn greph. {5 marks)

{iv) [F 60 srudents in sinhala medium, 20 sindents in lamil medlum and 10 students in English mediom
are selected inthe competetive exam,

Find the number of students who are not selected in the exam. {2 marks)
ON@—— — £
25m | 5 m ] 3 m

A, B and C are 3 pieces cut from a wire. The lengths of them ere shown above, {the pieces are notdrawn to
ascale)
(i) Armmangethe lenglhs inascending order. (2 marks)
(i} Find theiolaliength ofthe pieces Aand B. {2 marks)
{iii) Find the difference between the maximum length and the mininum length. {2 marks)

{b) Acementmisture is made with cemeatand sand tothe ratio 1:6. Thereare 5 pans inone packetof
cement,
(i} Find the amouni of sand needed to make B cemenlinisture with one packetofcement.  (Zmerks)
{ii) Aconcrete misture is made with cement, sand:and metals, o the ratic | : 2 ; 3, How maeny packets af
cement are needed to make | 50 pans of lhe conerele mishire. {3 marks)
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